
844.419.4359   .   artandalchemydesign.com   .   info@artandalchemydesign.com 39962

A514
           ASSEMBLY & INSTALLATION INSTRUCTIONS

CORAL PENDANT  401326                                                                                                       

1 OF 5



844.419.4359   .   artandalchemydesign.com   .   info@artandalchemydesign.com 39962

A514
           ASSEMBLY & INSTALLATION INSTRUCTIONS

COMPONENT PARTS

A Canopy

B Canopy Cover Plate

C Knob (4)

D Anchor (8)

E #10 Screw (8)

F Electric Box Cover (4")

G #8 Screw

H Gripper (2)

I Lightbar 

J Decorative Element

K Supply/Support Cable (2)

L End caps (2)

M LED Board

N Grommets (2)

CORAL PENDANT  401326                                                                                                               

2 OF 5



844.419.4359   .   artandalchemydesign.com   .   info@artandalchemydesign.com 39962

A514
           ASSEMBLY & INSTALLATION INSTRUCTIONS

EAD CB GROUND WIRES

TO INSTALL CANOPY TO SINGLE BOX (FIGURE 1 )

CAUTION: FAILURE TO INSTALL THIS FIXTURE PROPERLY MAY RESULT IN SERIOUS PERSONAL INJURY OR DEATH AND     
PROPERTY DAMAGE. We recommend installation by a licensed electrician. This product must be installed in accordance with             
applicable installation code(s), by a person familiar with the construction and operation of the product and the hazards involved.*

Caution: Do not exceed maximum wattage noted on fixture. Use only recommended bulbs with fixture.

1. Carefully unpack the fixture from the carton.

2. Unscrew the knobs (C) from the canopy (A). Remove canopy cover plate (B).  Set knobs and canopy cover plate aside. 

3. Center the canopy (A) over the electric box.  With a pencil, mark the location of desired mounting positions on the ceiling. 
Set canopy (A) aside. 
 

4. Drill 1/4" holes in the locations marked on the ceiling. For holes using anchors (D), place the tapered end of the anchor 
(D) into the hole and gently tap them flush to the ceiling using a light weight hammer.

5. Thread the wires in the electical box through on of the center holes in the canopy (A) while moving the canopy into       
position.  Using the #10 screws (E), screw the canopy (A) to the ceiling.  Be careful not to over-tighten or strip the an-
chors (D).

6. Using suitable wire connectors (not provided), connect fixture wires to supply wires (white to white and black to black).  
Connect all ground wires (bare copper or green to bare copper or green) together. 
 

7. Reinstall canopy cover plate(B), make sure the +/- labels align with the +/- labels in the canopy (A).  Secure with       
knobs (C).

(Figure 1)

Important: The canopy must be secured to solidly mounted framing members in at least two locations.  Do 
not depend on drywall anchors alone to support this fixture.  If in doubt, contact a qualified electrician.

Caution: Make sure wire connectors are twisted on securely and no bare wires are exposed.

3 OF 5



844.419.4359   .   artandalchemydesign.com   .   info@artandalchemydesign.com 39962

A514
           ASSEMBLY & INSTALLATION INSTRUCTIONS

TO INSTALL CANOPY TO 4" BOX (FIGURE 2 )

1. Carefully unpack the fixture from the carton.

2. Unscrew the knobs (C) from the canopy. Remove canopy cover plate (B).  Set knobs (C) and canopy cover plate (B) aside.

3. Attach electric box cover (F) to the canopy (A) using a #8 screw (G)

4. Center the canopy (A) over the electric box.  With a pencil, mark the location of desired mounting positions on the ceiling. 
Set canopy (A) aside. 
 

5. Drill 1/4" holes in the locations marked on the ceiling. For holes using anchors (D), place the tapered end of the anchor (D) 
into the hole and gently tap them flush to the ceiling using a light weight hammer.

6. Thread the wires in the electical box through on of the center holes in the canopy (A) while moving the canopy into position.  
Using the #10 screws (E), screw the canopy (A) to the ceiling.  Be careful not to over-tighten or strip the anchors (D).

7. Using suitable wire connectors (not provided), connect fixture wires to supply wires (white to white and black to black).   
Connect all ground wires (bare copper or green to bare copper or green) together. 
 

8. Reinstall canopy cover plate(B). Make sure the +/- labels align with the +/- labels in the canopy (A).  Secure with knobs (C).

Important: The canopy must be secured to solidly mounted framing members in at least two locations.  Do 
not depend on drywall anchors alone to support this fixture.  If in doubt, contact a qualified electrician.

Caution: Make sure wire connectors are twisted on securely and no bare wires are exposed.

(Figure 2)

GROUND 
WIRES

D E
AGF

B
C

4 OF 5



844.419.4359   .   artandalchemydesign.com   .   info@artandalchemydesign.com 39962

A514
           ASSEMBLY & INSTALLATION INSTRUCTIONS

A

J

L

I

H

1. Remove the velcro straps on the lightbar (I) and remove the LED board (M). 

2. Align the positive (+) and negative (-) labels on the LED Board (M) with the positive (+) and negative (-) labels on the 
canopy (A). 
 

3. After choosing the desired orientation for the decorative element (J); run supply/support cable (K) through the grom-
met (N) in the decorative element (J), through the end cap (L) and continue through the hole in lightbar (I).  Repeat 
step for remaining supply/support cable (K). 
 

4. Allow the LED board (M) and the lightbar (I) to rest on top of the decorative element (J). Push the support/supply 
cable (K) from the positive (+) side of the LED Board (M) into the gripper (H) on the positive (+) side of the canopy (A).  
Push the cable (K) in enough so that the cable exits the side of the gripper (H).

5. Repeat step 4 for the supply/support cable (K) for the negative side of the LED (M).

6. Adjust decorative element (A) to desired height by pushing the supply/support cables (K) into the gripper (H).  If    
decorative element (J) needs to be lowered, press in the plunger on the gripper (H) and pull the supply/support cables 
(K) out as much as needed.

7. Raise the lightbar (I) and LED board (M) so that the lightbar (I) is parallel with the decorative element (J).

8. Using the provided hex wrench tighten the set screws in the end caps (L).

9. Once the fixture (L) is at the desired height, cut the supply/support cables (K) as close to the notch in the gripper (H) 
as possible. 

10. Restore electricity at main breaker.

M

K

TO INSTALL FIXTURE (FIGURE 3 )

N

Note: The end caps (L) are shipped attached to the end of LED board (M). 

Note: Either supply/support cable (K) can be the (+) or (-) cable.  The decorative element (J) can be hung either 
direction.

Note: It might be necessary to loosen set screws in end caps (L) to allow supply/support cable (K) to pass through.  
It might be necessary to turn metal part of endcap (L) so the holes line up with the lightbar (I).

Note: Once cables are cut the fixture can no longer be lowered.

If you need further assistance, or find that you are missing any parts, please contact the showroom from which you purchased this product. We hope you enjoy your fixture!  

*ART+ALCHEMY will not be liable for injury or damage caused by improper installation, lamping or use of this fixture.

5 OF 5


